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Q:& Pistom

(a) Use the Law of Cosines to write an equation giving the relationship between x and 6.
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(b) Write x as a function of 8. (Select the sign that yields positive values of x.)
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Online Grapher
https://www.geogebra.org/graphing?lang=en
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Can be handy. Don't memorize. Cheat sheet

Heron’s Area Formula (p. 274) is fine.

Given any triangle with sides of lengths a, b, and ¢, the area of the triangle is

a+b+c
2

Area = J/s(s — a)(s — b)(s — ¢), where s =

For next time, make sure you take a look at the 3.3.
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